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sgears:What does leaping do to homogeneous
coordinates?

= <0,0,17 represents f

Example x =(0,0) ARE
v =(2,0,13 "Y-

y
=(2,0) + R2

w = <4,0,22 also represent*

lerp (x,y,(x) = < 1,02

terpt, it."2x=<1,0,1 represents (1,02

levp(n, t, c) = < 2,0.x represents 2,03((1,0)

lerp (nTo,'() = lerp(x,Y(Y) = 5x+ 5Y
-with birdcomponent 2 is whful twice as much

as in with 3rd component 1.



More generally Let FFR". Suppe x=<x.,X..., Xn(
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so Bi= iva gives I represents Pixi

mlike b, d a,wi

Conversely xi & Bilwi
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Could help w/ Part 3 of the Quin (Quin14)

ofterp: in
u(x) = lep(x, y, x) =(

- x) x + at &-

-x + y =Y-x -rivtuem aw.
Does not I

dependm x,
-


